Résoudre les équations suivantes (niveau 1)
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2x-7)(6—-4x)=0
8—-5x)(-3+7x) =0

(11x +6)(—-17x+6) =0
7x(6x +8) =0
—3x(5—-6x)(8x—12) =0
Gx—7)4x+9)(-3-8x)=0

(§x+3)(5x—§)=0
-60)Go-7) =0
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2+3x
(Bx—1)(—4x+11) _
7x—6 -
—5-7x _
(x-3)(5x+3)
-4(3x+7) _
8x+19
—-9x(3x+11)
(-7x+5)(8x-5)
-12
5x—7
8x(—3x—4)(9x+1) __
2+15x -
—50x+3 _
13x-9
3x—6 _
(x=2)(3x+17)
(4x-12)(3x+7) _
3—x -
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Résoudre les équations suivantes (niveau 2)
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Bx—52x+9)+Bx—-5(-7x+3)=0
(7x—-11)2-5x)— (2 -5x)3x—-9) =0
5x(5x —3) = (8x — 7)5x

3x(6x —7) +3x(5—4x) —3x(8—9x) =0
(7 —x)(5x — 11)— (8 — 17x)(7 —x) = 0
5x+6)(-9%+7)+5x+6=0

7x(—6x —13)+7x =0
(=5x+7)(3x—23)+3x—-23=0
8x(—11x+6)—8x =0

.(Bx—=5)(2—-71x) = (3+8x)(3x —5)
.(2x—-15)((3 +13x) =15 - 2x
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x+7  3-2x
8
=0

x+9 5x—-1

-5 6
2x-5  4x—7
3x+1 7

x-2 2
3x+5  9x+1
2x-1 6
7x—6 . 2
2—4x 7
3x—7
2—-5x

xX—4

=0

L xt=7
.Bx=7?-2-5x)%?=0
. 4x* = (3x + 8)?

. 3x% =7

. (6x-7)?=-4x?

Copyright : ©Programmaths 2020



